Pk

4 ZE=HHE  1107/03/21 [BESHERY | 19:12:39

B

2= 255 ABRAE | BI4EaKHEE 385 A EEEE | (02)2751-4188#701

=

T A F RS AR AT A S AR TAH
KT FIE B — S HORSEER L B
ST AFIRI B RFFEE T2 =+ B -

Videw
s

g
N

% 22 3 FEE®4H 107/03/21

aitH

1.8 E H:107/03/21

2R ERE

(1) A EI 4TS ER O ARAE

(2) B AR E R A E Bl (e

R EREE R & HE R R R A LR L EHiras 2 A ]
(3)Er Erat  FRAH(T7T):6950548

(4)[F B E a8 2 BREH(fF7T):2712000

()AL B fRad 2 B #A(fFoT):0

(6)iZEE %4 H I HIRaERREH((T7T):2712000
(7)#E E IR A F B E S B %A(F7T):2666550
@) AT HERE 2 RHA

NI

(1) A EIATE A E D A TR A E]

(2) B E E R A E Bl (e

R ERCE R & HE R R R A LR e EHRag 2 A ]
(3)Er E Rt 2 FRAH(T7T):6950548

(4)[F B EReE 2 8REH(F7T):631218

(5) AL & R 2 B #A(fF )0

(6)iZEEE 4 H I e HIRsEar%A(f7T):631218
(7) ¥ E Erres A B EEE S S%A(ff71):620638
@) AT E ERes 2 A

i

(1) E A TH O B B S I (A PR A E]

(2) B e E R A E 2 Bl (A

R EHEE R & HE R R R A LR e EHiRas 2 A ]
() E IRt 2 [REA(ff7T):6950548

(4)[F B ERe8 2 BREE(F7T):1165500

()AL B & fRed 2 4 (fT):217000
(6)iEE %4 H I e EH IRaGEREH((TT):1382500
(7)HE Eres A B E IS E) 2 S%A(f71):666640
(B) AT T B E Rl 2 A




R RS IRE R

(1) =345 B 55 iR (A PR A E]

(2) SRt er FORaE N = Z BR A

N [FE &R (R 25 B R R R A LR T B E IR 2 A F]
(3) 7 Efrae Z FREA({T7T):6950548

(4)JF 7155 Ras Z BREA((T7T):694620
(S)AZCHT 7 55 PRas < s #H(fT7T): 108500
(6)iCEE 4L H k7 E (RaERRAH({T7T):803120
(7)8er EOraE S = EIRE S 2 #(171):443310
(8) AT ey i s 2 I LA
AR S IRE R

(1) F] R EA R AR A E]

(2)Edfe e & ORaE A FL 2 B (A

R [F R &R (R 25 B R R R A LR AT H A E IR 2 A F]
(3) 7 Efrae Z [REA({T7T):6950548

(4) 75 Ras Z BREA((TT):386460
(S)ATCHT I 2y E PRag Z BT IT):0
(6)ICEE 4L H 7 E IRAERRAH({T7T):386460
(7) 88 Foraa S = EPRE & #(171):379980
(@) AT By E IR Z R A

A

(1) A FRE TR AR A

(2)Edfe e & ORaE A Rl 2 B (4

R [F R &R (25 B R R R A LR BT H B E IR 2 A ]
(3) 7 Efrae Z [REA({T7T):6950548

(4)JF 57 FPraE Z BRER((T7T):463752
(S)ATHT I 2 PRag Z BT IT):0

(6 E AL H 1F 7 & IRAERREH({T7T):463752
(7) 88y Fraa A B EIRE S S 80(T7T):455982
(@) AT By E IR Z R A

A

3.4 B E IRaE A EE A MR

(1)

it

(2){E{E(fFIT):0

4.1 E ORaE N B R AT A B ek 2
(1)EA(FFIT):0

(2) R &S #A ()0




SR E IR BT

WRIESE

BB

(2)HEH:

EREE

6. 57 E (ras  BAREE(FT):

13901096

TIREEREH B BERBSREITO):

6379050

BICEEXRAH Kyl A TRt HIReS 8 A T A SR IR
I FE

b

167.42

0. IZEEHREH I  BERE - RIRERESEHGHATTEIEZX
NRZTA

H AT B B e B 2 bR

198.28

10. H A FERIHEETA:

FHET 107 ££ 03 H 21 HIUMEZR A AERE » e S RasEen
G




